Electricity and Magnetism Il: 3812

Professor Jasper Halekas
Virtual by Zoom!
MWF g:30-10:20 Lecture




Lienard-Wiechert Potentials

V(Et) = ——2

4meg (¢ Ar—Ar-v)

A t) =99 __ 2y

41 (c Ar —Ar- v) c

All in terms of retarded variables. ..
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Lienard-Wiechert Potentials for

Uniformly Moving Point Charge

Contour levels not same on two plots - for visualization of contour shape only

v/[c=0



Lienard-Wiechert Potentials for
Uniformly Moving Point Charge
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E-field of Uniformly Moving Charge

v=08¢






E & B of Uniformly Moving Point Charge




Check Your Understanding

- _ 1 qc A2 __ Mo qcv _ U o
v, t) AT, 1) = 4w (c Ar—Ar-¥)  c2 v, t)

" 4meg (c Ar—Ar-v)

The full form of the Lienard-Wiechert potentials for a
moving point charge is as shown, written in terms of

the retarded position.

For the special case of a particle traveling with
constant velocity v along the x-axis, starting at the
origin at t = 0, show that along the x-axis these reduce
to (in terms of the current position, for an appropriate

normalization B): ;
V(ix,t) =

-
)

x—vt
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